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TOTAL JEfZ | TOTAL | NET TOTAL | J[EfZ | TOTAL | NET
AL R KHEEA
397 1 420 4 3624 5
K £ OUT | IN |TOTAL HDCP NET K £ OUT | IN |TOTAL HDCP| NET
A R M X 38 | 36 74 *| 48 69.2 E H B L i 39 | 40 79 *| 72 |718%*
Fit [i#] i 38 | 38 76 * 36 724 X H = 40 | 40 80 * 84 |716*
g O ®& - 38 | 42 80 *| 6.0 740 m 2 FE = 44 | 40 84 *| 132 [70.8*
T B — 40 | 43 83 % 84 746 T E E 47 | 40 87 *| 132 |738*
MoB ®E = 40 | 44 84 * 144 696 W A E X 44 | 46 90 *| 156 |744*
woAx #F 1T 46 | 47 93 | 216 714 N JT = 43 | 47 90 | 156 744
TOTAL JEfZ | TOTAL | NET TOTAL | JIEfZ | TOTAL | NET
A &5
402 2 422 5 3680 9
K £ OUT | IN |TOTAL HDCP NET K £ OUT | IN |TOTAL HDCP| NET
X & B B 36 | 40 76 *| 6.0 700 x OB X 1T 43 | 40 83 *| 96 [734*
= A gl 39 | 38 77 * 48 722 m =B g = 43 | 40 83 *| 84 [746*
E oW EOER 38 | 43 81 * 84 726 /2 nm F 2 43 | 41 84 *| 108 [73.2*
 H — B 42 | #1 83 * 60 770 ®x KX E - 39 | 46 85 * 96 (754
7 B 5h 43 | 42 85 *| 144 70.6 B & — B 49 | 38 87 *| 132 [73.8*
g E OE & 44 | 45 89 | 132 758 B X m BB 46 | 45 91 18.0 [73.0*
TOTAL J[EfZ | TOTAL | NET TOTAL | J[Efz | TOTAL | NET
=i e ==
FHE A
418 3 429 6 3630 6
K £ OUT | IN |TOTAL HDCP NET K 4 OUT | IN |TOTAL HDCP| NET
X B # B 36 | 40 76 *| 24 736 X B # 17 40 @ A 81 *| 10.8 [70.2*
B 3 ik — BR 36 | 41 77 % 48 722 X B & =X 42 | M 83 *| 96 [734*
X & B E 42 | 45 87 *| 132 738 = H o 43 | 44 87 *| 132 [73.8*
®mo#H E N 48 | M 89 * 120 770 #? K ® X 43 | 45 88 * 156 |724*
X B = # 39 | 50 89 * 16.8 722 B OB = B 44 | 46 90 *| 16.8 |73.2*
® B @ = 48 | 45 93 | 180 750 wWw @B sh 1T 47 | 45 92 | 180 740
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TOTAL JEfZz | TOTAL | NET TOTAL | JIEfZ | TOTAL | NET
AL ER
429 7 3618 3 432 10 [ 3708 13
K % OUT | IN TOTAL HDCP NET K £ OUT | IN TOTAL HDCP| NET
M B H X 42 | 40 82 *| 84 736* r B = ik 39 | 41 80 *| 48 [752*
5 % B & = 44 | 41 85 *| 108 74.2%* 2 B = X 42 | 42 84 *| 120 [72.0*
£ & E 1T 44 | M 85 * 96 754%* E5] g *x 46 | 40 86 *| 120 |740*
| # % 41 | 47 88 *| 192 68.8* E 3 F BB 45 | 44 89 *| 144 |746*
X B % - 45 | 44 89 * 192 69.8* +r B B - 48 | 45 93 *| 18.0 |750%*
iL A 23 46 | 50 96 | 204 75.6 i K pi:3 47 | 49 96 | 19.2 |76.8
TOTAL JEfZz | TOTAL | NET TOTAL | JIEfZ | TOTAL | NET
X T
430 8 3688 10 433 11 3550 1
K % OUT | IN TOTAL HDCP NET K £ OUT | IN TOTAL HDCP| NET
M O & B a1 | 42 83 *| 96 734%* 2 B E 3k 40 | 37 77 *| 72 169.8*
= % B — 37 | 48 85 ¥ 108 742% IhE B B 44 | 4 85 *| 16.8 [68.2*
b= S S 47 | 38 85 *| 120 730* A bl F 43 | 44 87 *| 144 [726*
E H E - 50 | 38 88 *| 120 760* ' 2 R OF 43 | 47 90 *| 16.8 [73.2*
E oW OE X 45 | 44 89 * 168 722% r % X # 45 | 49 94 *| 228 [71.2%*
X e & 46 | 44 90 | 120 780 X & == =z 48 | 49 97 | 228 (742
TOTAL JEfZ | TOTAL | NET TOTAL | J[EfZ | TOTAL | NET
AREA] 1] T4
431 9 3758 14 433 12 3622 4
K £ OUT | IN |TOTAL HDCP NET K £ OUT | IN |TOTAL HDCP| NET
=2 ¥ B %X 42 | 43 85 *| 96 754%* I B B OB OE 38 | 40 78 *| 6.0 |720%
mo ok BB 42 | 43 85 *| 108 74.2%* " E OE 7 42 | 42 84 *| 132 |70.8*
K B £ 41 | 45 86 * 96 764%* M HE E A X 42 | 44 86 *| 144 |716*
X OH O£ 17 46 | 40 86 *| 120 740%* B B ® = 45 | 47 92 *| 192 [72.8*
i H g 45 | 44 89 *| 120 770 A #t pi:3 50 | 43 93 *| 180 [750*
X & F 44 | 45 89 | 132 758%
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TOTAL JEfZz | TOTAL | NET TOTAL | JIEfZ | TOTAL | NET
XHEB Bt
437 13 3650 8 449 16 [ 369.8 11
K % OUT | IN TOTAL HDCP NET K £ OUT | IN TOTAL HDCP| NET
w X F X 38 | 47 85 * 96 754 12 H (£ 47 | 39 86 *| 132 |728*%*
iy 1T # 43 | 44 87 * 132 738*%* s R X = 39 | 48 87 * 144 726*
= B % B 45 | 42 87 *| 144 726* 2 B M X 51 | 38 89 *| 156 [734*
B & B X 42 | 47 89 *| 168 72.2%* 5 B’ OF 44 | 46 90 *| 13.2 [76.8*
£ 0O B X 44 | 45 89 * 168 722% w oKX g 7 47 | 50 97 *| 228 [74.2%*
2 B F B 45 | 46 91 16.8 74.2*
TOTAL JEfZz | TOTAL | NET TOTAL | JIEfZ | TOTAL | NET
=N FE
446 14 3632 7 466 17 3702 12
K % OUT | IN TOTAL HDCP NET K £ OUT | IN TOTAL HDCP| NET
B T B B & 43 | 43 86 *| 144 716* 3 7] 15 43 | 45 88 *| 156 [724*
A OF X B 42 | 46 88 *| 156 724* x | g 49 | 42 91 *| 16.8 [74.2*
X A &R H* B 45 | 44 89 *| 180 710* SO [ - 3 47 | 46 93 *| 19.2 [73.8*
i i3 B 45 | 44 89 *| 168 72.2%* hmE = 49 | 48 97 *| 240 [730*
B B E B 51 | 43 94 *| 180 760%* XK B - E 46 | 51 97 *| 180 |79.0
E B £ = 45 | 49 94 | 168 772 KB - % 49 | 53 102 | 252 768*
TOTAL JEfZ TOTAL | NET
SRR
448 15 3592 2
K £ OUT | IN |TOTAL HDCP NET
E R X B 42 | 44 86 *| 120 740%*
% K F = 46 | 43 89 * 192 69.8*
wm B F & 43 | 46 89 * 168 722%
E) ih A 48 | 42 90 * 204 69.6*
=3 % E 46 | 48 94 * 204 736%*




